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= 39,246
== 335,632
Al 115,254,057
g A L3 7,588,298 7,079,145 509,153
= 2,850
< 58,355
Al 7,527,093
fE Sd=R 4,345,853 4,189,445 156,408
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02 SRt =AY 16,000 16,000 0
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OEIZNESPY A AZ(2023~2024H)
1,500, 0002 x59H 88,500
OEIZNE3RA A AIE(2023~2024H)
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203 HR=H| 102,000 102,000
03 A= L2 FAIH| 102,000 102,000
OJHFI & AZAIR=L 32,000
OBICHAIY AIZFX 25,000
OFRENAE =8 25,000
OXXHEZ =AY L AIRFA 10,000
OEXIE AIH=al 10,000
HEA SXME AI> 2,618,808 2,450,960 167,848
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01 AtR2t2|HI 101,000 0 101,000
O delag X 20,000
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04 XESE=SAM Al 2,517,808 2,265,960 251,848
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1,403,460 +1,794H 2,517,808
SR A& 835,705 853, 167 A17,462
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OECUA 2 76,9602 x 15 x00 103,8%
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OJIZHZ22 X U EE 182,653
-=UAS 1,650,000, 0002 *4. 5% 74,250

_1_




FA SHYXIE D
B RgHE ole As)
el SR =4S (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HIES 1,650,000,0002 %3.495% 57,668
SO QU
57,667 ,500& *12.27% 7,076
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OXME 2HAIE 2l 66,263
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4,00024 %2, 0002 8,000
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350,000 x 122 4,200
OAIRA g4 M& 4,000,000& *12] 4,000
&, =4 FdHSg S+ WA 5,000
W= 250,000& *22] x6IH A 3,000
AE 50,0002 #2538 x200H A 2,000
OAE Jid 2€ 8,000
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2 35234l 35,000 20,000 15,000
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OS24 ddgy |/3s
500,000 453 22,500
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SN BETRD
B RgE e As)
Rl SRIISS Jits EEREE
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ogdlis 8Al & HEZ=20d 2823 25,898
JlE2s 76,9603 x 1 »228& 17,547
raEsdsY 76,9603 x 18 50! 4,541
FL2PE 115,4402x18»332 3,810
OJIZHMIZZX 4UEE (ZROS2) 2,871
-=UAS 25,898,000& *4. 5% 1,166
- A EE 25,898,000 *3.495% 906
colRet 906,000 %12.27% 12
LEES 25,898,000 *1.75% 454
AHES 25,898,000 *0.896% 233
201 Zet=E] 84,400 84,400
01 AtR2te|Hl 66,640 66,640
OUADIZR NBLES 9B 2442
400,00024#128] +42S 19,200
OLRII=s EAE I
12,0002 300 +32] 10,800
Ogdlisd 54224 dalg
60,0003 x 1 »652 3,900
OJlgaz 0y =24 5,000,000& *12] 5,000
O&ADIE 82= MH
1,500& *1,0008 23] 3,000
OYULBU|(HAZE A& L2E S) 6.000
OYRHIS(H4IN, HiH, FF| S)
300,000 %122 3,600
OaZ3H= Mgzzd 29 & =A2
= 550,000& * 122 6,600
0222 25 2w, 55 2g)
150,0003 x2&+5& 1,500
OXA RFID B 2% 380& *2,0002 760
OV & Fo1FHIES 190,000& * 122 2,280
OTAINE gHr= 1,000,000 *432] 4,000
2 35244l 17,760 17,760 0
Osd)| erd2te|
230,000 122 2,760
O3323 % MA(HI], 84 dot+E 23
s) 15,000
202 04| 4,500 4,500
01 2LHA LI 4,500 4,500
OgAlIEE 2= € =8 2534 4,500
401 AIEHIZ R HYI 2,150,970 2,150,970
01 Al&HI 2,150,970 2,150,970
Ogdli=s2 &y xds flgt 20 2,150,970
-EX 1,442,470
A= 556,000




£A: HEXIAD
BH: XYY A Ys
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- JH B A 130,000
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01 XML =EF S| 10,000 10,000
OYADIE & &2 F0HHI=E
500,000 *20& 10,000
02 A7 1,500 1,500 0
OZEMBE T L 28 Y
20,000& 753 1,500
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201 LB-2AY| 57,623 33,476 24,147
02 SE==294| 57,623 33,476 24,147
OEZIISHIAAE 22| 57,623
ZMAXI([trinity) 19,530,000 10% 1,953
U=&s4(Line D)
20,460,000 *10% 2,046
- 2IZEE(02) 18,600, 000 *10% 1,860
BHAI(Anlab) 84l 12,090
2 A 2 2H(Fasoo DRM) 30,690,000 *10% 3,069
P EIIOHHEHEZ POF)
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OAZ (S &/ AIRA) 2,000
OFE=2 NLER g2z RE= 5,000
202 04d| 36,500 52,500 A 16,000
01 =LHO4 L] 36,500 52,500 A 16,000
OAIZ&Hs| F& 3,000
OHEEFXAL HR F& 30,000
OO0l AS2UEF =& 1,500
Osseggi g2 = 2,000
401 A& B2 20HY| 20,000 20,000
01 AlEHI 20,000 20,000
Oold N=gdil =4 228y 20,000
SHES WFRAA XA 36,000 20,000 16,000
301 LEBNZ 36,000 20,000 16,000
11 HALAHIXIE S 36,000 20,000 16,000
OXtoHZE A 2,000,000& *13JH 2~ 26,000
O1AHEZHAL 1,000,000& 1070 2 10,000
CSXAF AI2EEHAEE) 3,000 2,700 300
& 3,000
201 Let23| 3,000 2,700 300
& 3,000
03 AL2Z | 3,000 2,700 300
OEXIAL Al 23 AL 3,000
= 3,000
M2I2 MAHAIIRE &Muel 22 29 45,000 0 45,000
T 22,500
Al 22,500
307 gIzHol 45,000 0 45,000
T 22,500
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02 QIZHBAAIEER 45,000 0 45,000
ONAHAIIRE MUl E22 2Y 45,000
= 22,500
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HAMNY HH2Y 1,960 1,960 0
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70,0003 *14Z +23 1,960
Ei=01 €01 85 &Y 12,500 12,000 500
=3 EHi=21 €1 & 12,500 12,000 500
201 B2 AL| 12,500 12,000 500
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SA SENADY

3 Ny g Hat
Rl =01 €01 25 &N EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 12,500 12,000 500
OBI=I1(AID1) 2
10,0002 x25+300H 6,000
OJ2)| &% % B 89
1,300,0002 %52 6,500
StotS SHEF—AL 12,640 12,640 0
CAZ MEHE 12,640 12,640 0
SAZ SRFHSUE ot 12,640 12,640 0
201 Let=23 | 12,640 12,640 0
01 AtR2te|Hl 4,440 4,440 0
OEAZ HRAZE SOISHSUS ALED 4,440
03 &A= 8,200 8,200 0
OZAZ HBJAZE SISHSUH AMFE 1,000
OEAIZ SRA At HIISHMSUHE
80,0003 *90H 7,200
Chelgao|gtxd 1,351,560 365,368 986,192
= 36,3%6
= 31,958
Al 1,283,206
SR8 =Mt HE 2t 616,000 0 616,000
SRE oA 616,000 0 616,000
202 0o4dl 615,000 0 615,000
03 =2AZ R0 30,000 0 30,000
O=MuFZAl &2 30,000
04 =Xl=to1bl 585,000 0 585,000
ORQITAl HEoIS 3,500, 00024 +80% 280,000
ORI HHS(RLR)
3,500,000 %10% 35,000
OZ® Ree% 3,000, 00021 +502 160,000
OB 2wi%(BL)
3,000,000 x6H 15,000
OZR% =3 8
1,060, 00024 <802 84,000
022 AA2E SY(BLE)
1,050,000 x20H 21,000
303 Zal= 1,000 1,000
01 2= 1,000 1,000
O=2EAl XA A Lo 1,000
tHelws D18t Z3t 405,000 37,000 368,000
IIMES == 400,000 32,000 368,000
201 Ler23 | 315,000 15,000 300,000
01 At2t2lt] 60,000 10,000 50,000
Ooleus 43 =8 10,000
OXNGAEIIZM 8 =8 50,000
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SN HZTRD
. A=D1 xd
el AHESAH X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEETI 1,000, 0002 124 2 12,000
OF4I1, BIIFFI| AU
150,000& 1204 & 1,800
OSYIARE BALD
70,000 * 13 *42] 3,640
OgolIdE 22= M
4,000 %2,000% 8,000
OX& S2 WAl
8,000 x5 +53]« 1204 2,400
02 S3=gHl 10,000 10,000 0
OXr& =Xl 3,000
o=l 1,000
O8&88= 3,000
OAIZZEHl || 1,000
OSHOIXI 2& & 2l 2,000
03 A2 I 4,500 4,500 0
ONESAAIL & S BARE 4,500
206 MH=HI 6,000 6,000
01 MHZH| 6,000 6,000
OXESAZZ Y 2H=5 78 4,000
O2%=Z, 23 28 2,000
301 EetE NS 10,800 10,800
14 JIEt2a3 10,800 10,800
OXESAHAL 2HI2a=
10,0002 90 * 122 10,800
405 AHaHE S 2,550 2,550
01 TR ESF SHI 2,550 2,550
OXHASAHE &gt 2 2,550
KRS AL 2te| 6,500 6,500
201 er23| 5,000 5,000
01 AtR2t2|HI 5,000 5,000
OXESA R 5,000
202 04| 1,500 1,500
01 2LHA b 1,500 1,500
OXESA gR=2 1,500
AR SA 24 130,792 127,604 3,188
= 36,396
s 31,958
Al 62,438
SAH 2CIUI0IH XASE(EX) 64,906 61,940 2,966
= 32,453
= 12,981
Al 19,472




2A:

SHE X2 0t

I-I;_(H: EH |3:IB‘-!D| |- /\-|
=Rl NESAH 22 (SH9 H2)
SN - B CRI(S]) - NISAY - BES A HIm=S2t
101 2124 d| 64,906 61,940 2,966
= 32,453
T 12,981
| 19,472
M IIZtHZ220SE 64,906 61,940 2,966
OXESA ZOUI0IH XE =4 64,906
- OIUIOIES 22|
2,010,580&x2F* 1200 & 48,254
= 24,127
= 9,651
Al 14,476
S ESE=; 2,565,240 *2H 5,131
= 2,566
= 1,026
Al 1,539
HoHZAH| 140,000 x2H 1201 & 3,360
= 1,680
= 672
Al 1,008
SXZEQE 500,000 x2H 1,000
= 500
= 200
Al 300
FEAMNHS 500,000& x2H +23] 2,000
= 1,000
T 400
Al 600
2= 5,161
= 2,580
= 1,032
Al 1,549
= S& ANASAMEE It MUIA X&(2X) 7,886 7,664 222
= 3,943
T 1,577
Al 2,366
201 B2 AL| 7,886 7,664 222
= 3,943
T 1,577
Al 2,366
02 S=29| 7,886 7,664 222
Od= S8 NUIASAEE It HMblA R 7,886
= 3,943
& 1,577

—




2A:

SHE KAt
CHelg=o|etxd

=t o
ol ANESAH 88 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 2,366
NASA 2435 NJ(2X) 58,000 58,000 0
== 17,400
Al 40,600
201 =3 19,700 19,700 0
< 5,910
Al 13,790
03 Ar=EHI 19,700 19,700 0
OXESAHE &35 N (2208 29) 19,700
= 5,910
Al 13,790
206 MH=H| 3,000 3,000 0
=S 900
Al 2,100
01 M= HI 3,000 3,000 0
OXESAHHE 23t X3 (AAXIEE) 3,000
& 900
Al 2,100
301 LEtE NS 2,300 2,300 0
= 690
Al 1,610
4Bt 2 a3 2,300 2,300 0
ORESAT A2 AS
10,0002 »230&H 2,300
=S 690
Al 1,610
307 212+01& 33,000 33,000 0
< 9,900
Al 23,100
02 2IZHB A E & 33,000 33,000 0
OX2SAtHE 2435 X (RTAASAE
208 29) 25,000
= 7,500
Al 17,500
OHOPte XEE MssSAMH 29 5,000
== 1,500
Al 3,500
O3leLt=s IHESAE 28 3,000
= 900
Al 2,100
Ngs2dE =4 1,220,240 1,243,623 A\23,383
SR8 W=sgd 1,220,240 1,243,623 A\23,383
SRE ARs=EEY 1,220,240 1,243,623 A\23,383
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FA SHYXE 0
M QgEed |4
ol SRE usEHE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EENTEEE
50,0002 3 * 12 1,800
307 gl2to| & 140,140 139,100 1,040
07 d=kls=s 140,140 139,100 1,040
OZ2LJHIY 2T THoHE24 =™
3,503,500 ~40& 140,140
308 AHXIHMSO0IA 13,821 30,423 16,602
11 S [2S0 e YA AS A 13,821 30,423 16,602
OHEZENLAMEBAIAH R 24 13,821
403 AXIEHMSAH=0lH 36,579 4,000 32,579
02 S 2SOt = & P EF A I 36,579 4,000 32,579
OHEZXNHOIAZBAIAR 0lZet 54 36,579
HH2LZHI(AFXAD) 105,406,197 96,099,983 9,306,214
< 245,319
Al 105,160,878
eIHA2SH|(HF X 105,277,507 95,973,093 9,304,414
= 245,319
Al 105,032, 188
oIA2IH(E) 105,032, 188 95,734,550 9,297,638
101 @124H| 78,637,945 72,127,065 6,510,880
01 &2 63,875,754 60,519,086 3,356,668
OJl==(EAd) 42,429,904
32A 8,303,500 «1& 128 99,642
= 7,833,580 «6E « 12 564,018
52 6,641,750 x55E « 12 4,383,555
6= 4,213,903 «336H 123 16,990,445
= 3,082,300 «254H 123 9,3%4,851
8= 2,171,300 «223& 122 5,810,399
92 1,872,000& x150& « 12& 3,369,600
g8 2,458,800 1H* 122 29,506
- HIAL 3,944, 2002 <3+ 12 141,992
SPNE=T 6,755,660 «3E « 122 243,204
- KIS A 2,851,000 x41& 128 1,402,692
Odol= 3,108, 166
g2+ 39,838, 056,000 +8. 3%+94% 3,108,166
OZd+< 1,852,699
CESY 584,400
BN} 40,0003 x520F « 12& 249,600
-RHE 20,0003 x620H 122 148,800
-J|EH2XHH) 60,0003 200 <12 144,000
-J|EHBXHA) 100,000 «35E 122 42,000
2P (EII2854) 705,600

_17_




SN BIXAD
M o
ol

ZHI(3HA X2 D)
HI(BE X2t

S A - BRI - HRA - BES of e A
-250] & 130,000 270 * 122 421,200
20 ~ 243 110,000 «30E 122 39,600
-15 ~ 194 80,0003 1208~ 128 115,200
-10 ~ 144 60,0002 x80E «12& 57,600
-5~ 9 50,0003 x 1208« 12& 72,000

- FE2ReE 52,560
=3 50,0003 74 +12& 44,400
-5 40,0002 x17E~ 128 8,160

-HesfREg 440,138
5= 221, 1703 x25E «12E 66,351
62 182,060 x 1202+ 122 262,167
s 141,380 x46H 122 78,042

= 124,8083 62~ 123 8,987
~KISAHHATAL) 157,630 x13E«12& 24,591
elHRg 70,001
S=(RNME) 448, 7203 x13E 123 70,001
OS=g2=¢ 1,475,820

JleglRsd 218,400
5= 50,0002 x 12« 12& 7,200
7= 30,0003 x220H * 123 79,200
-8-9=2 20,0002 x100H 122 24,000
K2 60,0002 38 * 122 2,160
-XIEAH SR AL 50,0003 x44E 12 26,400
—JIEA 50,0002 x2& * 122 1,200
JIMNOISE) 30,0003 x160& ~ 122 57,600
—SHH A 20,0002 x70E 122 16,800
-2HEHI(2EE

10,0003 12~ 123 1,440
-2HFBI(28Y)
20,0002 x10H* 123 2,400
B ] 138,000
A=V} 50,0002 x10& 128 6,000
-2Usx4 50,0002 x45E «12& 27,000
-2HdEAd 250,000 x25F « 12 75,000
-ZSEUS 100,000& x10&+12& 12,000
-2 A& 500,000 x3E~12& 18,000
Qg g 50,0003 x73E«12& 43,800
sSHs 22=¢
70,0003 *303H 122 254,520
AtA ==& 20,0002 x4 =122 960
i 34,200
RCIFSES) 200,000&x3E 12 7,200
-MIIx el 150,000 x 15« 12& 27,000
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2A:

PSRL N %Q—E—%%HI(%‘@II%BH
CHRl: CIHRY| (™ XA R
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OJAr==EH(2l3]) 15,120
4= 100,000 x 1= * 123 1,200
5= 80,0003 x2ZH 123 1,920
= 60,0003 x5 =123 3,600
7= 0I5t 50,0003 *14Z = 12& 8,400
NI INES = 116,400
NI EE=INES| 70,0002 100+ 122 84,000
NI E=INPN === el =
30,0003 +90F 12& 32,400
SO0t Y 627,300
-0t &L 1,275,0002 418« 12& 627,300
HARAAR Y 1,920
-S| A2 AL 80,0003 x2ZF 123 1,920
SEHIIR Y 50,0003 *22Z = 12& 13,200
SRR ¢ 100,000 *10E +12& 12,000
OguE &+ 200,000
Ooxzm=224 8,162,605
A2t 2R 7,785,471
= 14, 4463 x2H+50A| 2t 123 17,336
= 12,3213 +336H +50A| 2H+ 12E 2,483,914
1= 11, 1303 x254H +50A| 2+ 12 1,696,212
8= 9,992 x223H x50 A| 2+ 12 1,336,930
= 9,160 ¥ 177 +x50 A 2H+ 12F 972,792
— AL 11,8762 *3G*50Al 2t 12 21,377
-NZAH21SE 0]4)
11,6192 x8H«50Al 2t 123 55,772
-XIEAH20E S 013t)
10,888 *33H x50 A| 2+ 12 215,583
-EEZsll=sl2 28X
11, 1305 *17A| 2t 123 11,353
-S=E8E 285
11, 130&«1H*17A| 20+ 123 2,271
SERFHZU 224
11, 130@*1H+17A1 2123 2,271
-HIN, SEANE, 2AE, 2F)
11, 1302 x5 *60A| 2t 12 40,068
-MEDL ES2el IR
11, 130R x5 *17A| 2t 123 11,353
HED MEHST SX 224
11, 130R*38H 4 A| 2++2F 3,384
“S4 SAZL2T
11, 130& #1517 A| 2H93 25,544
Iy e L T-C PN eV
11, 1303 *15Z+60A| 2++ 123 120,204
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2A:

PAp. %Q—E—%%HI(%‘@II%BH
Ciol: olt2o| (A X2 (crol: @ 2)
SA - B S (BH) - MISAY - B2 Ofl aro e HDE2
-FS&HIIA 22
11, 1302 x 10H *17A| 2+x3E 5,677
=ME, SHS ASHIAZ2 R A
11,1302 x66H 60 A| 2H+6E= 264,449
-2AHA OIS X HIAZ2EX
11,1302 x60H +60A| 2+ 12& 480,816
DIEA(NEARA) 22X
11, 1302 *x3H+17A| 2tx 128 6,812
-NEHSHHSIE) 224
11, 130@ x5H*17Al 2tx 128 11,353
FuaRsy 377,134
-EAHN HAZ22X
89,460 x17H 7L x 128 127,749
-&SH 22X
89,4603 *3H 82U« 122 25,765
-S| HAHAIEE 22X
89,4603 *3H 2 x 128 6,442
-0| 722l BRE 22X
89,4603 *3H 22 x 122 6,442
-2S23 22X
89,460& x5 H 22U« 122 10,736
A2 5 HIAIRA 200,000
OFHZAH| 1,920,240
QUA 140,000 1, 143 x 128 1,920,240
OY =402 3,796,507
QUBkA 38, 107,500, 000! *8. 3%*120% 3,795,507
OAIIE A 930,813
S
43,467 ,465,0002 *8. 3%*86%*3%ex 10 930,813
02 JIEtE 24 6,384,687 3,786,605 2,598,082
OJ|EHA B 4= 6,384,687
2 4,265,047
-HAZE(30E0]4)
4,287 6002 x5 x 128 257,256
-HAAZ(23EH0] AN
3,938,500& x4H x 128 189,048
-HAAHE(15E0] A
2,945, 2002 x6H 128 212,055
-HAHE(15H0|2H)
2,171,000&x6H 128 156,312
28I A 3,769,750 x37H x 12& 1,673,769
—AIZFA ERRI DA
2,859,910 +27H 12 926,611
ARxH 1,686,500& 63 +8& 849,996
H242H(HH) 814,671,000& *8. 3%*94% 63,561
HHIAH|(HA, DA
140,000 85 x 128 142,800

_20_




SA BEXAD
MR S| (HHXAD)
CHRl: CIHRY| (™ XA R
SN - BH . S(B) - HPAR - BAS ol by e HDS2
EEENTINEESS)
140, 00021 632 +8 2 70,560
=P ETEEe))
814,671,000 %8. 3 120% 81,142
HEAGD(APAS)
849,996, 000! <8, F4<60% 42,330
COIIRAHI(EE, 2IIA)
3,514,321, 00021 58 . 3%+86%+33% 82,782
HIOIEAMHI(ARAE)
849,996, 0002 %8 385+ 13% 7,888
IEAL(EZ, M, ARAL) 56,400
=y} 40,0002 450 * 128 24,000
5] 20,0002 x40 * 128 9,600
~JIEH2RHA) 60,0009 53024 * 128 21,600
~JIEHBRHA) 10,0008 *124x 128 1,200
I 2E4TH(HY) 22,920
PIENI 130,000 482 * 128 12,480
~20-241 110,000 #5128 6,600
~10~141 60,0002 +2% » 122 1,440
5 014 50,0002 *424 %122 2,400
LS +E(HY) 1,560
b 40,0002 +124% 122 480
] 30,0002 +3% » 122 1,080
RS LH(HE) 4,800
5t R 200, 0008 224+ 128 4,800
EEESCED 960
oz 40,0002 %2 » 122 960
NER-ES= 1,465,006
~H U E(30EH0/A)
12, 11921452 +50A| 2+ 1281 3,357
~H U2 E 230/ 4)
1, 2728 %42 +50A| 24+ 128 27,053
~H A E(15EH0/A)
10, 24726 #B0A| 24+ 128 36,890
~H U E(15EH0/0H)
9, 5032146 x50AI 2+ 128 34,283
—AoLs 9, 1602 +632 *50 Al 2HB 230,832
otk H|
11, 1302 %37 *B0A| 24+ 1224 247,086
—AIZH E R D]
11, 1308 5272 *B0A| 24+ 124 180,306
“HIOHA 29X
1, 1302 542 * 17 Al 2+ 1281 9,083
—SotEAl 22X
1, 1302522 * 17 Al 2+ 128 4,542
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SN HZTAD
M HE2HHHI(HIYXIZ D)
ool oI (HYXIJD) (EEEE))
SA - B GR(31) - HIRAY - BES il &k e HlmS2
-ZER2 224
11, 1302 x5+ 17AI 2Hx 123 11,353
-HI&22 X 400,000
-BAHAYSA 22T
11, 1302 +30ZE +60A| 2H+ 123 240,408
-SEEgZ 224
11,130+ 1G*17AI 20+ 123 2,271
-Z3HFHH 22
11, 130& 2«17 Al 2Hx 123 4,542
Se2RsE 76,931
-ZSt2 R HIOHIE, &8 224
89,0403 0«8« 12& 76,931
03 SR (RIAHY) 22X E> 8,377,504 7,821,374 556,130
O#¥dEX S(183H) 8,320,915
=g 2,311,3702x183H + 123 5,075,769
d2=g 1,155,680 *183H x2& 422,979
S = ) S = 80,000 =183« 123 175,680
- ZUZ A 140,000 183« 12& 307,440
- HEAMNHS 2,749,660 x183Z 503,188
HANel== 100,0002 x 16123 19,200
CHelat=t| 40,0002 x117F+ 128 56,160
ALY 50,0003 *117&* 123 70,200
SR 90,480
=45 100,000& x 19K« 12& 22,800
=3 120,0002 »47F 123 67,680
NE=E 109,920
BN 40,0003 »0H ~ 122 43,200
- T 20,0003 *55H « 122 13,200
=M 60,0003 *36Z 12 25,920
MOl = RHA 100,000&*7H+ 122 8,400
-J|E} 20,0002 +80E *12& 19,200
A2t 2R=E 860,609
“HEEX
20,2022 *147B*15A1 2H+ 12 534,545
—SHE M A 20,2023 x1H+40A| 2t+ 128 9,697
-2k 20,2023 x1H+30Al 2H+ 122 7,273
-AEEMZ 224
20, 2023 x2H*40A | 2+ 123 19,3%4
-S3H& 20,2022 *3H +40A| 2t+ 123 29,091
-TEExE
20, 2022 +8H *30Al 2Hx 128 58,182
—wWEXNE 20,2022 x4 B +25A| 2+ x 12 24,243
-EEEstilss 2 SEEY 22N
20,2022 2B +45A| 2t x 123 21,819




A SEXRAD
Hr: HESAAY| (HE XA
Ciol: olt2o| (A X2
SA - ZB . 9(B) - NIRAD - BaS ol b A
R EE)
20,2023 x1H*45A| 2+ 123 10,910
-=J| A=l
20,2022 12B +50A| 2t 128 145,455
=] 290,766
—HE M A 161,619 1H +x24A 3,879
-SR0S 161,619 »1H»52 8,405
-SHAE 22X
161,619 1H 522 8,405
-IEsSHE2OS2Y
161,619 2 52 16,809
-AEZEE0I=2
161,619 x3%H »52 25,213
EESACIFaPN| 161,619 1 »52 8,405
-=E=Esr2 161,619 1H x52 8,405
NEEAZ 29T
161,619% x2H 24 7,758
SNEEANT 2 T3
161,619 »1H »36 5,819
~O{2I0| B AE G AR
161,619 1H +36 5,819
-SAcIHE 2
161,619% x2H 52 16,809
—EIRAC ME 2 (0RI22XH)
161,619 » 1 »52 8,405
“AEE=S 161,619 1H 52 8,405
- B 28X
161,619 1H x52 8,405
-AFE 161,619 x1H» 15 2,425
-E2EE 161,619 x8H 24 31,031
S HAEX UGS EHE
161,619 3 52 25,213
-nEXNE 161,619 4% x24A 15,516
-0l nES3322XA
161,619 »1H»52 8,405
- AMd= 161,619 1 »52 8,405
-S2ELFH2U 161,619 »7H»52 58,830
gaaRsg (22T
161,61921 1831 29,577
- DL A| 107, 7402 1832 15 295,747
SHYSFZHI 13,200
=1 100,0002 x11H 123 13,200
Ost@2e|d (1Y) 53,289
JlE22 2,426,002 18122 29,123
2 2,426, 900 * 1 *50%+23] 2,427
S e = P S = 50,0003 x 18« 12& 600
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2A:

PSRL N %E—E—%%HI(%‘QII%BH
CHRl: CIHRY| (™ XA (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
IESE 40,0002 *1H* 122 480
ARy 125,000 x1H* 123 1,500
- Rl 100,000 x1F + 122 1,200
- O Z A 170,000& x 19+ 12& 2,040
- BEFIHI 2,426,003 x23]*60% 2,913
CNZrRlg
21,9182 x1Z*13A1 2t+ 12 3,420
SHEE
175,342 x 1B 42U« 123 8,417
HAXt=Y 116,896 * 15 *10 1,169
OZ0IE P& 2 12l S
50,0003 x66% 3,300
201 L2 AY| 130,986 41,572 89,414
02 SE==29| 130,986 41,572 89,414
(OFSJV RIME="Eot= = 1,149,000 =114 130,986
204 MM AH| 2,518,536 2,127,518 391,018
02 232X 2,518,536 2,127,518 391,018
OXZE X 2,518,536
Al E 500,000 x 15+ 12& 6,000
2AE 450,000 x 18+ 12& 5,400
42 (XS H) 400,000 x7E+ 123 33,600
52 (X =2) 250,0002 x59F = 123 177,000
63 (KA} 175,000 398 = 12 835,800
= 165,000 +265% = 128 524,700
8~9= 155,000 +361Z = 123 671,460
HA2AL 175,0003 4G+ 128 8,400
- 2ABrRAJ| M (62 ) 250,000 x 15+ 123 3,000
- UBRIDIHI(72) 175,000& x5 12 10,500
- 2BIIIRI(82) 165,00021 %212+ 122 41,580
- UBIDIHI(92) 165, 0002492 » 122 16,740
A2+ R0 H
144, 3702 %27 B+ 123 46,776
HAZE(EH) 175,000& x5 12 10,500
HAAZ(HA) 65,0002 x 10 =123 19,800
HEZE (=) 155,000 x6 % * 123 11,160
RS 155,000 63 F +8& 78,120
NEAIRA S0 20HA
300,000 x5H 123 18,000
303 LAz 4,058,830 3,665,873 392,957
02 8uta3 4,058,830 3,665,873 392,957
O&IAN3 3,929,047
6= 3,749, 100 *380Z * 110%*101. 7% 1,593,765
= 3,187,600& x266H * 110%*101. 7% 948,548
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2A:

PR %Q—E—%%HI(%‘@II%BH
ool oI (HYXIJD) (EEEE))
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
- 82 2,647 ,900& #2832 « 110%*101. 7% 687,232
=1 2,251,400 *183H * 110%*101. 7% 460,912
- HAAL 3,468,900& 32 x110%*101. 7% 11,642
- XIS A 3,245, 4002 *»41H *110%*101. 7% 148,85
- HALE(04 0/4)
3,612,000 *22 x110%*101. 7% 8,082
- HR_ABE (234 0]al)
3,223, 100& 9B x110%*101. 7% 32,452
AR (159 014)
2,711,500 * 12 % 110%*101. 7% 3,034
HAA=(15E 0/8H)
2,373,900 * 13 * 110%*101. 7% 34,524
O32% (RIHH2Z XS] Suta2
705,210 %183H 129,054
OZ2LZ(RI|H )22 X AAHS (&
H2eld) 728,070& x1H 729
M4 HA=RE2SE 19,685,891 17,741,622 1,944,269
01 H22E= 15,014,123 13,849,348 1,164,775
o242 (874
76,092,666, 2402 *P%—-500,000, 000! 6,348,340
OU3RYBHI(Z )
76,092,606, 2403 %7 .277% 5,537,264
OSIR+gRL3(52)
79,263, 194,000& *3.754% 2,975,541
OMl2AEH2(EY)
79,263,194 ,000& 0. 193% 152,978
02 =20AHLEBEZ 2,746,686 2,685,912 60,774
O=0AHLBES 2,746,686
AUEES (ARA)
70,000,000, 000& *3.495% 2,446,500
COIE)| QYRR (HR)
2,446,500,000& *12.27% 300, 186
M BRI(RIH 22X BEE2REHZ = 1,925,082 1,206,362 718,720
OZ22X(RI|HX) 22| HABEEHZ
11,066,826, 4262 *3.495% 386,786
OZ2R(2IH) 22 X| oIz |
8 2= 386,785,580& *12.27% 47,459
O22&(RIHS) 220 N22eed2
11,066,826,426 2 *1.75% 193,670
OZ22LR(2I|H 22X AFATHHEE 2
11, 066 826,426 *0.896% 99,159
OZ2LZ(RI|H )22 XS] 2014 =2 J|=
g2 11,006,826, 4263 4. 5% 498,008
O22&(2IH) 22 X9 g22 700,000
IESYH|(BZ)(EX) 245,319 238,543 6,776
& 245,319
101 @1244| 245,319 238,543 6,776
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od
i’
o
uJ

=
il
= o
K0
60 K0
=0
0 —
=R
oF 80 80
= OH OH
&0 K0 Ar
60 %0 ol
<&

IF RO

=

-

KIO

Hlw

6,776

1,800
1,800
1,800

MEE
Ofl &k2h

238,543

126,890
126,890
126,890

Ofl &F2H

iy

245,319
245,319
245,319

W

128,690
128,690
128,690
82,500
79,200

245,319

- HyS

S - B

- SRA(E) - HIRAY
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